it 7600
it 7640

K
K

Sliding Door Caelum

TRROAX

ASSA Cylinder Lock

Follow Me

/ I/
NN NNENNNNNNNNNNEN//INENENNNNNNNENNENNNENI
NN NSEEEEEEN NN/ EEEEEEEEES NEEE ]
T i — — —— — — i o ] o o i i i i e i o i i ) ﬂ"rai

i-..\d.-.-.-=.-..-...-==-.-.-.-..-=
:-...\..-..I...=..-....-.==....-..-.....-=

\............... \\...‘.‘....\h.............;‘. =
N 6.8 TN
AR AR
|ISNEENESNENNESNESNEEN//INNENNENNENNENEENRERN]
I 11171117

EI................-..Ei..................-.=

l /i

Inventory

element |

.
v
¥
Y

88754502 rev. 3


http://www.troax.com/sites/default/files/36907600.pdf
http://www.troax.com/sites/default/files/36907640.pdf
http://www.troax.com/sites/default/files/88697640.pdf
http://www.troax.com/sites/default/files/88697610.pdf

NEENEENEEEEENEEEEEEN

L
L] [ Jef Jai /N

Y 7177 3
VA T 8
T@Iﬂl\\l\& 5
\\ | S
/
o
M\n/ﬂOO =} S b
0 \
o] n
© (2]
© O [72]
@ M%\% M4\%B e
' 08 o ~
N g o N=
o e 0 S o
50 %8 N 3Q
s o} o TeIN |
=o = © So
0=
(2]
L
™
S3
S8
S8
S© .@

36700033

M8x35 M6S
89050042

36900539

qu\\@q\% \\\
/NN

M8



0

0

0

0

0

0

0

0

e

89050290

M8x55

36900549
M8x55 @,
o
H
e,

T 2

\\\\%\\\\\\
\\\\\\\\\\\\\\\\\\ [T ] ]]

T I

/|
1

o8 i Je] Jof | ]
Ny~

i e e
=\

\l

36900549

0
0
o]
0
0

i ||

M8x35

89050042
Cre

<>
M8x45 M6S

00032565

M8x45 M6S
89050050
M8x35 M6S

89050042

-

—

89050525 =, 36900549

M8







89050525

@/ 89050157

= /.

89050525

LL
m
>
s
n
P
@
=

89050525
89050157

M8

S

I
yNNEN
=

\\\\\\\\\\

89050157

N \
[~ o/l

\\ I

\\\\\\\\\\\\
[

1 )
rrrr




89051500

15 mm

125 mm

/////QV// //Q
W %
e\ \

89050525

MItititirirrrrrrrrrrrrrrrrrrrrrrrrere oy
To / ") W W W A W R W WL W W W R M\ WD W W VR WV WA\ W W W W W W W W MW WA

\} W WL W W VL W W W W W W W R R M\ WL W W WD R VR WA\ W R W W W W MW WA
4'-""'-.-""5—--.""--;""'-.'.""-5—

\J W W WL W W W W WL WA WL W W W R\ W W W W W W W W WEL\A ' W W W W WA W W W W W W W WEA\A
WA A L \¢ ﬂdI.""I.-:,a'-..--.-ﬁ—..-.-...-..ﬁ,—




S
S
3 o SSh—
i I
8 \mmu,w E o o oo
® \.\ - =

.

jnans -l




89050042
M8x35 M6S

Ly gy y Y Yy y

...-......--.....-i\...-..--.-.--.....- [/

89050525

q\lﬁy\mﬂ]\q i

\\\@\\\\\\\\\\\\\@\\\\\\\\
TT 1T T T T 777

»n
83 5
=5 g
QW N
o o2}
o) ® o
=© @ ~
=2 SN 3
MW o
) ) o
~\\ ©
™
/ / o)
SeSW ° , S eSew , “
Al
£ / / o
ﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂﬂ , ; m
d { “




Cut out in UXSP

.. == =
i1 J
[ /
/ g
fi /
/1 J
\ ]
/1 J
/ /
/A J
/i /
/1 J
/i /
/A J
/ /
L \
7
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII 1
o
n
A
@ @ / 2
»
[{e]
\43
o ) \ <
1 1 S
[ 5 8
T (sp]
\ \ \ \
)] : : )
( = \ = /2
\ - S
o A\ 0N
© @ \ o0 ﬂvM
\ | ® ® ® \ |\ wmm
i =3
0=

AN N N N

N\

A N NN L WA

AANAY

AR W W
AV AVE <A WA

AN

A=

| SN

&

Ve

89200125

89200124

M8x35 MVBF

89050156

89050525

M8

36901489

i

L) 7

/|

/

rnr

/|
=

i

I


http://www.troax.com/sites/default/files/cutout_uxsp_assa_sliding.pdf

